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NC11 EQ4
2025-06-15 (Day 23)
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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

Plot [['I",
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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EQ4AW

RyiE) | EBIAT (FD) | EBE (EH/4) | BEBREE (B/R) [XKS SRR

07:45 138 80.0 0.14 || 3FHHBe07:45 KEFEHF (RAEREE)
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ET (ml/hr/plant)

EQ4AW_W2, Day=23 (2025-06-15)
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EQ4AW
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EQ4AW_W2, Day=22 (2025-06-14)

O s~ e e e e e e S e B I — L 800
V1, VB1RRV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET
- 600 —
401 448 f
36 400 E
20 4210 32 >
1971 200 &
I18 Warning: lcol [FVI',| "FVO’'] missing 4 0 I
0 = -0
30 4 FRV — MW P
e e e o o o o - 60 =
maxM ]

25 - 8 f '8 3 B 1 | | 2
- S
zl . | 11 111 I I L 40 5
= E

15 8 f '8 3 B 1 | | - 20 z

110 0
4
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
2000
optEC0=2143.0, setECB=1710 ——  ECB*10% [
® ECC
1800 - ¢ 3¢ S— 3¢
® ¢ ¢ ) o r
1600 -
o
°
6.5 OptPHO=6.5, setPHB=5.8 —>—  PHBX10% !
' ) o o ) ° ® PHC
e o
6.0 - ¢ 3¢ 3¢ >
5.5 -
' 4
S 150 ] ByInilt @23 01:34: ET=477 Fg=560.0 Ro=139.0 8003
g : L 600 Ti
< 100 - : 2
< : - 400 £
= 50- L =
_ i - 200 5§
- b o | 3
i - P —

015 1 2 3 4 5 6 7 8 9 [ 10 11 | 12 [ 13 | 14 [ 15 [ 16 | 17 [ 18 | 19 [ 20 [ 21 | 22 | 23 goo
S50l BB | B | B B2 2282152182 % 122152 B | W [ W | A 1WA 0w | 5] 5] R 5] R W -
[ 1 c
% ByEt @D22 19:34: ET=332 Fg=336.0 Ro=nan 1 - 600 i;_
X 100 - : =
< 1 - 400 £
:é .L—‘*. 1 .t - .’ © oy

50_ =5
— 1 _200 >
u p o - e & o : o

0 Py o a PN -IF\\¥41r—* 1 0

0 1 2 3 ] 5 6 7 8 9 [ 10 [ 17 | 12 [ 13 [ 14 [ 15 [ 16 [ 17 | 18 [ 19 [ 20 [ 21 | 22 [ 23 [ o0
S 150 - g g | £ z S E | E z FA [A A FA FA [A BA [/ | BB | KM || m | DF|Dm || A o~
= 1 c
% ByWoFlv @D23 01:34: ET=197 |[Fg=240.0 Ro=14.0 - 600 i;_
< 100 - : 2
< : - 400 £
S 50- s L
_ i - 200 5§
- o -o—o e o °
|

WOt T2 T3 14151567 0

0.8 4 g g | £ z S E | E z FA [A A FA FA [A BA [/ | BB | KM || m | DF|Dm || A

0.6 -

0.4 -

0.2 -

1808 3 | \

750 - ® | obs

—@— PPFD_obs
500 -

250 ~

RH_obs-rning: col ['RHo_obs'] is missing




12.75 -

12. 50

12. 25 A

12. 00 ~

11.75

11. 50

T
500

660 760 860
m=675,n FV0=0

T
900

12.2 A

12.1 4

12.0 A

11.9 4

11.8 A

——

M_W

675

6é0 6é5
m=930,n FV0=0

12.8 A

12.7

12.6 A

12.5 4

12.4 A

12. 3 4

——

M_W

930

935 940

m=475, FV0=0

11.70 A

11. 65 A

11. 60

11. 55 A

11. 50

—o—

M_W

T
475

4é0 4é5
m=725,n FV0=0

12. 4 A

12.3 4

12.2 4

12.1 4

12.0 A

——

M_W

T
725

T
730 735

11.

11.

11.

11.

11.

11.

11.

12.

12.

12.

12.

12.

12.

12.

m=565, FV0=0

80 A

75

70 -

65

60

55 -

50 A

——

M_W

T
565

5;0 5%5
m=780,n FV0=0

40 ~

35 A

30 -

25 A

20 -

15

10

——

M_W

780

T
785 790

12.

11.

11.

11.

11.

12.

12.

12.

12.

12.

m=620, FV0=0

——

M_w

T
620

655 650
m=850,n FV0=0

——

M_W

T
850

T
855 860




hour

7:45

11:40

14:15

100

80

60

40

20



EQ4AW
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EQ4AW_W2, Day=21 (2025-06-13)
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